American Population Body Composition Averages from the
NHANES-III Data Set

Introduction

The purpose of this document is to provide the statistical averages of the body composition
of average Americans and provide reference averages with which an individual may be
compared to the population examined in NHANES-III.

Scope

The following tables illustrate the average ranges for various body composition and
electrical properties of Americans, as examined in NHANES-I1I. The tables DO NOT
illustrate "ideal” or "target™ values. Furthermore, the tables may show values that are
considered to be "unhealthy" by medical professionals. The purpose of this document is
strictly limited to providing a reference of the population examined in NHANES-III.

Methods

The NHANES-I11 data set contains (among many other values) height, weight, age, gender,
resistance, and reactance data. Using the same methods of Chumlea, et al. [2], these values
were used to estimate various body composition and electrical properties of each individual.
The formulas used are contained in the “NHANES-II1"” equation set provided in RJL
Systems’ software. [1,2,3]

Usage Instructions

The tables in this document contain the mean (the center of the average range) and standard
deviation (the variance, +/-, of the average range) for each value. To find an average range,
first find the section for the appropriate gender and age range. (eg: Males aged 20-29) Next,
locate the column for the value of interest, (eg: FAT % of weight) and note the mean and
standard deviation values. Add the standard deviation to the mean to get the high end of the
average range. Subtract the standard deviation from the mean to get the low end. Using the
above example, the average range for body fat percentage for 20-29 year old American
males is 16.8% - 29.8%.

[1] Shumei S Sun, W Cameron Chumlea, Steven B Heymsfield, Henry C Lukaski, Dale Schoeller, Karl Friedl, Robert J Kuczmarski,
Katherine M Flegal, Clifford L Johnson, and Van S Hubbard Development of bioelectrical impedance analysis prediction equations
for body composition with the use of a multicomponent model for use in epidemiologic surveysAm J Clin Nutr 2003;77:331-40.

[2] WC Chumlea, SS Guo, RJ Kuczmarski, KM Flegal, CL Johnson, SB Heymsfield, HC Lukaski, K Friedl and VS Hubbard Body
composition estimates from NHANES |11 bioelectrical impedance data/fRInternational Journal of Obesity (2002) 26, 1596-1609

[3] Giuseppe Sergi, et. al. Accuracy of Bioelectrical Impedance Analysis in Estimation of Extracellular Space in Healthy Subjects and in
Fluid Retention States. Annals of Nutrition and Metabolism (1994) 38, 158-165
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